	ANOVAa

	Model
	Sum of Squares
	df
	Mean Square
	F
	Sig.

	1
	Regression
	1077.524
	4
	269.381
	24.459
	.000b

	
	Residual
	14790.963
	1343
	11.013
	
	

	
	Total
	15868.487
	1347
	
	
	

	2
	Regression
	3331.972
	5
	666.394
	71.336
	.000c

	
	Residual
	12536.515
	1342
	9.342
	
	

	
	Total
	15868.487
	1347
	
	
	

	3
	Regression
	3548.202
	10
	354.820
	38.505
	.000d

	
	Residual
	12320.285
	1337
	9.215
	
	

	
	Total
	15868.487
	1347
	
	
	

	4
	Regression
	3699.130
	11
	336.285
	36.919
	.000e

	
	Residual
	12169.357
	1336
	9.109
	
	

	
	Total
	15868.487
	1347
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